
1

A

2 3 4 5 6 7 8

1 2 3 4 5 6 7 8

B

C

D

E

F

A

B

C

D

E

F
FOR INFORMATION ONLY

NOT FOR MANUFACTURING PURPOSES

Created byFinish

DWG No.Title

Scale Sheet

A31:1*Water cooled

LPA-Mv2.1 / LPA-M-Wv2.1

Anodized Aluminium 2023-03-15

1/1
power attenuator
Manual laser

Optogama

!!

10

29

10
32.5

17
.6 18

50

50
.8

 [2
in

]

7.1

7.5±0.02

43
±0

.0
2

50±0.01

50.8 [2in]

4x Mounting holes
fits M6x1 and

1/4"-20 screws

2x holes
Ø3H7  5
for Ø3 Dowel pin

Thread SM05 3
Both ends

Adjustment
handle

Scale locking screw M3
(HEX 1.5mm key)

*Top view *Bottom view

*Front view
*Side view

Adjustment scale
angle and percentage

65

85 90

Adjustment grip

50

B
ea

m

*5

*LPA-M-W including
water cooling inlets
and bottom plate

*2

*Removable plate
when using without water cooling

*QSM-M5-4
(M5x0.8 5 hole)

*Plug M5
Can be switched

with QSM water inlets
(M5x0.8 5 hole)

3320

8.
7

LPA-M

Bottom view

17
.6

7.1

18

43
±0

.0
2

50
.8

50

7.5±0.02

50.8

50±0.01

LPA-MLPA-M-W


	Sheets and Views
	Assembly


